Name Period

Richards Middie School
2025 Summer Math Packet
for Rising 8" Grade Students

Directions:  YouMUST SHOW ALL WORK in order to receiue credit.
No weork shown will earn you a grade of zere.

Neatly show your work and circle your answers. If there is not enough
room to show your work, use notebook paper. Neatly organize and
number your problems. Circle your answers!

Due Date: Monday, August 11,2025

No late work will be accepted. You can turn in your Math packet early.
Start off your 8th grade year right... get this done and turned in on time!

FAQ: Will these be graded?

Yes, these packets will be graded. Do your best. In addition, you will be
tested over all the material on the Summer Math Packet.

What if | don’t know how to do something?

Read through the notes/examples on the front of each page before you
do the problems on the back. You may also get help from others if you
need it.

What do you mean hy “help”?
Help means help, not copying answers from a friend, website or app.

Why do we have to do a Summer math packet?
Because it is an excellent review of 7th grade math concepts, and great
preparation for 8t grade.

What if | don't do this packet?
You will get a zero. Zeros are bad. Do your packet.




Operdtions with Tntegers

Negative + Negative: Add the absolute values of the two numbers and mcke the answer
negative. '

ex: -5+ {9 *‘% 5+9= 4 —% answw:@

Negative + Postive (or Postive + Negative): Subtract the absclte values of the two nurbers
(larger minus smaller) and take the slgn of the number with the greater absolute value.

ex: -7+ [2 % 2-7=5 -% 12 > 7, 50 ahswear is positive % onswer*:@

ex. 6+ (9 % 9-6=3 % 9> 8, 80 answer |8 hegative % answer:@

+  Keep the first number the same, change the subtraction sign to an addtion sign, and
| chonge the sign of the second number. Then use the integer addttion rules,

ox 3-9 — —3+(—9)'=@
ex 5-(8) —> 548 =@

Ignore the-signs and muttiply or diide as usual Then determing the sign of the answer Using
the following rules:

»  Negative - or + Negative = Positive

*

Negative - or + Positive (or Posithve « or + Negative) = Negative
ex -3:(5) —» 3:5=I5 — neg-neg=pos —> answer: @
ex Us=(6) —» Us+5=8 —> pos+neg=neg — onswer:

Parentheses
Exponents
Multielication ¢ Division (left to right)
Addition & Subtraction {left to right)




Find the sum or difference.

L -80+77 2. 77 + 160 _ 3 -84 1(-33) o104 - (-92)
5. -105 - -122) 6. 185 - (-I5H) 7. 53 - (59 8. -6 +{-33)
9. 5-(-28)- (-39 0. 93+ Bl +(-179 LB+ {34 +52 2. -850~ (93) + -17)

Find the product or duotient.

3 680+ R I -94 + (-2) 5. 88 (-2) 6. -2+ 0
7. -0+ 1) B 90+ (-6) 9 3 (59 20 - (2)
2l 28+ (88): (22) 22, 56+ 10+ (80) 23, 18+ (1) (1) b, L. (el

Evdluate the numerical expression. (Be sure to use the order of operdtions])
25. <78 +(2) - (:56) 26, 65 +6+(-3)+40 27 94 -(84- [0) 28. U3 +{23)- (57)

29. -IB- 1)+ 50 () 30. 26 - (-&Y) + (-93) 31 -84+ 4+ (20) 32, -536 +(-30) + (-10) - {-9)




Operatlons with Rational Numbers

Determine whether you should add or subtract using integer rules. Then add or subtract.

Decimds: Line up the decmal polnts. Then add or subtract and biring the decimdl point
down. Use integer rules to determine the sign of the answer.

9.60
ex: 98 + 624 % neg + pos: subtract —% 624 % answer‘:

3.56

Fractions/Mixed Numbers: Find a cormmon denominator and then add or subtract. Borrow
or corvert an Improper fraction answer, f necessary. Use integer rules to determine the
sign of the answer.

53_6
Si=% ,
ex: 53 ( )——> 5% 7% Pos + pos: add—> 3%%%{1@9@

13
& B

Determine the Sign of the answer Using Integer rules. Then muttply or divide.

Multiplyng Deciividls: Tgnore 'tHe.declmai points. Multply the numbefs. Then count the
decimal piaces in the prob em to determie the location of the declmai polnt In the answer.

923
ex: 923~ Il) —% neg - neg = pos — 923 —> answer‘:

9230
©B3

Dividing Decimals: Move the decimal In the dwisor to the end of the rumber. Move the
decimal in the dvidend the same number of places and then bring it straight up In duotlent,

26,
ex -52+02 —» neg+pos=neg —p 02)52. —> answer:

Multiplying Fractions: Convert mixed numbers to Improper fractions. Then cross-simplify.
Muttioly the numerators and multiply the denominators. Simplify f necessary.

a | 3
ex:-% = —> pneg- pos = neg—} . (@2 ﬁ’% onswe

Dividing Fractions: Corwvert mixed numbers to mpraper fractions. Then flip the sécond

fraction to ts reclprocal and multiply the two fractions. Simplfy § necessary,

m
ex -4+(-2) —> negeneg=pos —> l—i 2.2 > Gﬁswer@




Find the sum, diff erence, product, or duotient.

33, 336! + 368 B4 1755- 1283 3507102 36, 3.2+ 0.

37. 365!- -12.63) 38, -39 +(-76) 39. 176- 43 4o, 6+ (-16.7)

Ll 26474 - 4527 Y2, 2.1+ 378 H3, -6.05 + (-8.2) | 4%. 28 (428}
Find the sum, diff ér':ené.ej prddué:t, or duotlent.

s, B2+ 15y 46, 18 HWa0- 1712 U7 2 Wy 1Y L8, 3 o + |37
49, 3¥3-5Ys 50. 5+ (-14s) S-4 %3 ¢ (13 52. - 55+ (-2 V)
53. 9+ (4 Ug) St -8 +3 %5 55. 523 - (2 5e) 56, -5 - (3 7f)




Solving Equations

Lo Soking One-Step Equations:
*  Cancelout the number on the same side of the equation as the variable by using the

nverse operdtion. (Additien/Subtraction; Multiplication/Division). Be sure to do the same
thing to both sides of the equation!

ex: 6x=-B — X:% —> onswer:@

ex: y+23=9 —} y+43=-9 —% answer:
28 23

ex: %=4 %\3'\%54'3 — onswerz

ex: w-3=-5 —% w-lgr% % cmswer*:
+B +

*  Undo operations using Inverse cperations che at a time using the order of cperations In
reverse. (e undo addition/subtraction before undoing muttiplication/division)

ex: 7x-4=-32 — 7x-§=-$ — %55_2&% onswer:
ot 4 7

ex:%+{3=l5 —> %1-'[%:'% ——)é»%jQ'S ~— Q“SWB“

ex:bJé?:-Q %\3%_7?2’3 % b+_§='«§ _‘> onswer:




Solve the one-step equation.

57 [+ j=-34 58.m-26=03 59, gs 3 60, (2 = ?.[6
6 g-(3)=-7 £9. _E: 3 63. b +{-3)=-9 a4, Uw =-280
Solve th‘e-;WO—S’f,ep equation.

B85, Bm-3 =27 66_7%:“3 67. 4+3r=-3 68, p =7,
g9, 28— 70 Lot = 2 71 -5-£=5 73 8 +Um=2
73 -B-%/4v=3 7y, D0 75. 35mM+075=-625 75 2y+3=1




Proportions and Percent

»  Set crossproducts equal to eqcn other and then solve the one-step equation for the given
variable.

ex: %=% — 5-0=Ub %;530_:%% qnswer‘:
g

+  Set up and solve g proportion as follows: R

*  Translate the question to an equation and then solve. (Be sure to convert percents to
decimdls or fractions.)

ex: 205 407 of what number? —> 20=08x —> answer: X =
ex: &lswhat percentof 327 — 8=32x —> x=025 —» answer

ex Whatls 2540f 887 —) x=02588 —» anewer x=(22)

(This Is just one way of many Lo Solve redlworld percant problems)

+  Tax: Findthe amount of tax usihg a proportion or equation. Then add the tax to the
orighal amount to find the total cost,

+  Discount: Find the amount of the discount using @ proportion or equation. Then subtract
the amount of discount from the original price to find the sdie price.




Solve the oroportion.

ho 20 5 ¢
[l [
5 B 2
8l =% 8. T w

6 21
79 == =~
8 8]
BB
&3. o= p

Solve the percent probiem.

a5 Eind 5% of a5, 86 615 75% of what

number?

89. 70 ls what percent 90, Find 333 % of 8l
of 3307

87. U0 s what parcent
of 3207

9l A $38 camera s on
sale for 209% off.
Find the sdle price.

88, What Is 20w of 457

9. Findthe totd price
of a $IL00 shirt
heluding the 7%
sales tax.




Geometry

Perimeter is the distance around a polygon

Clreumference 's the distance around a circle
Ared Is the space hside a figure
Volume Is the capacity of a 3-dmensional figure

Surface Area is the sum of the areas of dll the faces on a 3-dimensiond figure

Perimeter of Any Flgure: sum of side lengths

Circumference = n - dameter

Area of Parglelogram = base - height

Area of Triangle = % base - height

Area of Tragpezold = —2-| heignt{base, + base,)

Area of Clrcle = it - radus?

al-Geometf
Volume of Réctangular Prism = length - width - height

Volume of Cylinder = 1t - radius? - height

Surface Area of Rectangular Prism = 2 - length - width + 2 - length - height + 2 » height - width

Surface Area of Cylinder = 2 -t radius? + 2. - - radus - height




Find the perimeter (or croumference) and area. Use 3.15 for pl

9. 5 om .
T
| ()
5cm 4 ¢ 'I '
|
9cm
9. 96,
]
2.n :
5 0m .
3N ',
9 m
6N
Sind the surface ared and volume.
97, ' %8,
3n|
8 o 21N
2 0
8 cm
99, Q0.

cm

I3 mm




